i O 40025 v 1510/ F ]

Dbl T-n

ut Machining

Part Description:

40 Series

25 Series Metric 15 Series 10 Series

Fractional

Flange Mount Caster Base Plate

Floor to Frame

The flange mount caster base plate is made of anodized aluminum to withstand daily use and wear and tear.
It bolts to a profile end or side and is commonly used to mount casters for an added layer of strength and
durability. It requires a tap (page 861) to mount to the profile end.

A A
e B e 1B
T T g | | D &
o  of? T o o |
K e , K ('Y .
L @ - ‘ L “
; EC C & O O |[Ec |
J v J— © < <
DRILL THRU ‘ e | DRILL THRU 3
& C-BORE o o & | & C-BORE o o
H~" H~
(THREAD) L%s F-:I F s N (THREAD) L}$P"I Fi= s (Y
H H i 2418, 2420 H H i 2419, 2426
e I 25-2418, 40-2420 PfrrrTrTE| L 25-2419, 40-2426
M ' M
Part No. | Series A B Cc D E F G H J K L ] Weight
2418 10] 1.750" 375" 3.750” 405 2.940” 750" 1.000 5/16-18 1/4 SHCS 1.375" .500” 2.500” 424 1b
2418-Black 10] 1.750" 375" 3.750" 405 2.940” 750" 1.000 5/16-18 1/4 SHCS 1.375" .500” 2.500” 424 1b
2419 10] 1.750" 375" 3.750” 405 2.940” 1.375" 1.000” 5/16-18 1/4 SHCS 1.375" .500” 2.500” 423 1b
2419-Black 10] 1.750" 375" 3.750” 405 2.940” 1.375" 1.000” 5/16-18 1/4 SHCS 1.375" .500” 2.500” 423 1b
2426 [15] 1.750" 625" 3.750" 405" 2.940" 750" 1.500” 5/16-18 | 5/16 SHCS| 1.125" 750 3.000” 765 Ib
2426-Black [15] 1.750" .625” 3.750” 405 2.940” 750" 1.500" 5/16-18 | 5/16 SHCS| 1.125" 750" 3.000” .7651b
2420 [15] 1.750" 625" 3.750” 405 2.940” 750" 1.500" 5/16-18 | 5/16 SHCS| 1.125" 750" 3.000” 762 b
2420-Black [15] 1.750" .625” 3.750” 405 2.940” 750" 1.500" 5/16-18 | 5/16 SHCS| 1.125" 750" 3.000” 762 b
25-2418 [25] 44.50mm | 9.00mm | 95.00mm | 10.20mm | 74.60mm | 18.70mm | 25.00mm | M8x 1.25 | M6 SHCS | 35.00mm | 12.00mm | 62.50mm | .1800 kg
25-2418-Black [25] 44.50mm | 9.00mm | 95.00mm | 10.20mm | 74.60mm | 18.70mm | 25.00mm | M8x 1.25 | M6 SHCS | 35.00mm | 12.00mm | 62.50mm | .1800 kg
25-2419 [25] 44.50mm | 9.00mm | 95.00mm | 10.20mm | 74.60mm | 18.75mm | 25.00mm | M8x 1.25 | M6 SHCS | 35.00mm | 12.00mm | 62.50mm | .1800 kg
25-2419-Black [25] 44.50mm | 9.00mm | 95.00mm | 10.20mm | 74.60mm | 18.75mm | 25.00mm | M8x 1.25 | M6 SHCS | 35.00mm | 12.00mm | 62.50mm | .1800 kg
40-2426 40] 44.40mm | 17.80mm | 97.00mm | 11.20mm | 74.60mm | 20.00mm | 40.00mm | M8x1.25 | M8 SHCS | 28.50mm | 19.00mm | 80.00mm | .3648 kg
40-2426-Black 40] 44.40mm | 17.80mm | 97.00mm | 11.20mm | 74.60mm | 20.00mm | 40.00mm | M8x1.25 | M8 SHCS | 28.50mm | 19.00mm | 80.00mm | .3648 kg
40-2420 40] 44.40mm | 17.80mm | 97.00mm | 11.20mm | 74.60mm | 20.00mm | 40.00mm | M8x1.25 | M8 SHCS | 28.50mm | 19.00mm | 80.00mm | .3682 kg
40-2420-Black 40] 44.40mm | 17.80mm | 97.00mm | 11.20mm | 74.60mm | 20.00mm | 40.00mm | M8x 1.25 | M8 SHCS | 28.50mm | 19.00mm | 80.00mm | .3682 kg

For the most up to date information on 80/20° products visit 8020.net

m
-
o
o
P
—
o
-
P
=
=
m


Todd
Highlight


Floor to Frame [F] (M] -]

Fractional 10 Series 15 Series Metric 25 Series 40 Series Machining Dbl T-nut

Flange Mount Caster Base Plate (Continued)

Material Specifications Required Machining Services

Part No. Material Alloy* Process Finish Machining Type | Machined | Reference Page
2418 Clear Anodize Tap Profile End Mount to Profile End 861
2418-Black Black Anodize
2419 Clear Anodize Suggested Hardware (Mount to T-Slot)
241%Black Black Anodize Part No. | Series | Qty. Bolt T-Nut
2426 Clear Anodize 3491 m | 4 | 14-20x127sHes Economy
2426 Black Slack Anodze 3458 EE | 4 | 5/16-18x7/8"SHCS Economy
2420 Clear Anodize 753412 | FE | 4 | M6x12mmSHCS Economy
2i20Ela0) Aluminum 6105-T5 Milled Black Anodize 75-3430 140} 4 | M8x 20mmSHCS Economy
25-2418 Clear Anodize
25-2418-Black Black Anodize Suggested Hardware (Mount to Profile End)

25-2419 Clear Anodize
o ek Aroie
e y—— 3064 m | 4 | 1/4-20x34" SHCS
40-2426-Black Black Anodize 3123 EH | 4 [51618x125' SHCS
e y—— 136516 | PE | 4 | M6x16mmSHCS (Blue)
40-2420-Black Black Anodize 138525 | EN] | 4 | MBx25mSHCS (Blue)
* Or comparable
Mount to End of Profile Mount to T-Slot

Profile

Flange Mount
Caster Base Plate

FLOOR TO FRAME

Flange Mount
Caster Base Plate

Bolt

For the most up to date information on 80/20° products visit 8020.net



Todd
Highlight

Todd
Highlight




